a2 B OE FHOF O R O O D
A £ B F ] B3
i I P 3 2 ' 3 2
FAREL 5 3 3 =1 =T 2 2 =1 =7
£/ I S | e NI A 2 1 1 1 pEIEEY
% [ERER S 4 5 5 5
BB 1 2 5 > 3 5 14
e | = |E84B 4 3 3 2 2 6 | 4
=) ALY - = p— P
ST S [E] 3 2 0-2
5 s A 2 2 2 2 2
£ ] 4 —5 5
L HARA 2 —2 2
ﬁ AALB 1 — 5
= | e [EA 2 — 2
¢ |HIEEB 4 — 1 4 5 5
AR SRS —] 0«2
- A AR —] 0-2
S HERAE 2 — 0-2
& BHES 2 2 2 2
2 |fiER 2 2 0-2
R |Bah - 2 3 3
¥ XKEUR - RIS = 2 02
$or 1 3 3 3 3
B 4 ©4 3 ©4 4 7-4)4-8
5 | % [BeEn 5 6 60
¥ EEA 2 2 - 2 2.4 2
& H#EB 2 —2 2 2 2 4-0[2-4
KEFEIIIE 1 — 0-2
Wy E L 2 2 2
# Iy 4 — 1 5 6
(b 5L 2 2 2 2
bl e 4 2 3 5
R EEE 2 2 2 2
® W 1 — = 6
It 2 3 3
KELEHETE 3 3
Rt | AE 7~38 3 3 2 3 2 8 8
KA [ 2 1 1 1 2 | 2
EE 2 — 2 2
BRI 2 <o 0-2
Bl = |Ek 2 —2 2 [ 2
(I ET 2 = 0-2
il 1 2 — 2 2
B HE 11 2 S 0.2
3 4 4 4
4 4 4 4 4
; yr—3 4 4 4 4 4
| EEERE 1 2 ©2 2 2
PR 4 ©2 2 ©2 2 4 4
S8 R oA — 0.2
EMETE NS 2 2 2 2
JE |3 —] 0.2
13 [ & 1 2 2 2 2 2
| EEEEE ZR—Y 1 3~16 1 0-2
ﬁ;i g A HE— VI 3~6 — 0-2
B ARV R ETHE 3~6 - 0-2
ol & [ERER 2 B 0-2
sl % [y 2 ] s
s BT 2 B 0-2
P KN ERT 2 = 02
B LN 2 — 0-2
Ko B 10 73 25 D IR 3~6 1 1 1 1
KA 1 72 PR IE O IRF 3~6 1 1 1 2 2
LTI AN O~3 A1 Al A1 Al Al 0~3]0~3
HLA G A 31~32 31~32 31~32 31~32 31~32 93~96 | 93~96,
[ H—=bh—=h 0D 3 15 T 3 1 1 1 1 1 3
il T hEE) T TR BME L. B AR R i el L C M mDbH )  LERb LT b,
&3 6 3| o K E AERIGE) A0 EHAME L, FRATH - BINT B~ ORI 22 50 % FHE L ERT 5,
# SEEATH B PO AR b BRI I AN, &SI E R R L BT 5,
FDHb6 HOREAD D 5., 2 NI 7 Rz deht, K2 OFNIH FH O 1. 2R C BB, %3) Ll S IMH 205 LR 2R,

*4) 2R TEF B # @R L WE, ST 28R,

*5) 2FEFROEPHL, 2 FHRE COHEBAIBE L%, B - Ao 5 b 1 REEZBIET 5,
* 6) Py BRILHE O AR E X ERIZIT S,

*7) SFEROWIR - EWiX. 2FRICEIE LB E 24k L CEiET 5,

*8) WEIOF BT ARG EFR .

%

9) Ol A $E,



